(4) FHEFJEULE—E [£5T]) _
_ L ER=R3F &/ FEBR=-R2EE ZERMOBE SHIFE
I = -
HE 2| 2 " =
F & m fE HESEE £ F & | #BiRE HES
Y4 (F) (a) (M) (M) (F) (kg) (M)
th s R 627 17,922. 7 776, 770, 000 18,863,201 — — —
700 19,617.9 818, 020, 000 19, 746, 899 278 419, 615| 108, 854, 300
_ 11 119. 5 3, 980, 000 87,963 — — —
Eeiete = 12 124. 5 3. 810, 000 73. 663 2 1,416 972, 800
LT 13 303. 1 11, 540, 000 186, 438] — — —
o 20 553. 8 22, 690, 000 426, 668 17 22,282| 8,123,600
A = 651 18, 345. 3 792, 290, 000 19,137,602 — — —
= A 732 20, 296. 2 844, 520, 000 20, 247, 230 297| 443, 313| 117, 250, 700
5= . . . . H31
= 349 621, 172] 134, 737, 400
SEIELE 88. 9% 90. 4% 93. 8% 94.5%  85.1% 71. 4% 87. 0%
(4)—a FHEFZHIBE—ME [SES] N
_ L ER-R3FE/ FEB-R2EE SERDEE (FHIFE
I -
HE 3| 5 " =
F % m & HESEE BnEE F & | #BRE HES
S AiEA (F) (a) (M) (M) (F) (kg) (M)
th sk R 404 11,920.9 561, 540, 000 13,306,898 — — —
443 13,028. 8 589, 760, 000 13, 776, 161 234| 363, 254| 100, 852, 400
_ 6 62. 5 2,270, 000 37,735 — — —
j b b )
EeCa 7 77.5 2, 460, 000 39, 174 2 1,416 272, 800
= 12 285. 1 11, 330, 000 180, 365] — — —
AL a3 pR 19 535. 8 22, 430, 000 418, 752 17 22,282| 8,123,600
P 422 12, 268. 5 575, 140, 000 13,524,998 — — —
= 8 469 13, 642. 1 614, 650, 000 14, 234, 087 253 386, 952| 109, 248, 800
H31
= _ _ _ o
il 217|  363,990| 87,410, 800
SR LE 90. 0% 89. 9% 93. 6% 95. 0% 116.6% 106. 3% 125. 0%




(€4)—b

F AR BN

—fi% [ 3]
L ER=R3EE/TR=-R2EE

SERMDBE (FHI1FE

I- =7 =5
AE 2| % e =
F # m & HEEEE R F & | BIRE HEE
b4 (F) (a) (H) (M) (F) (kg) (M)
_ 149 4,610.3 180, 010, 000 3,999, 350] — — —
R 170 5.027. 1 192, 770, 000 4. 408, 864 29| 36,875 5,710,700
) 4 37.0 1,320, 000 24,936 — — —
j . 5 5 b}
M7 NITAZRR 4 35. 0 1,150, 000 20. 802 0 0 0
. 0 0.0 0 ol — — —
AL AR SR 0 0.0 0 0 0 0 0
- = 153 4, 647.3 181, 330, 000 4,024,295 — — —
5 & 174 5. 062. 1 193, 920, 000 4,429, 666 29| 36,875 5,710,700
o — — — 131
> 103|222, 066| 42,574, 400
XA 87. 9% 91. 8% 93. 5% 90.8%| 28.2% 16. 6% 13. 4%
(€4)—c FHEZJBpWNLE—K [T71 1) _
_ L EE-R3FEE/ FEB=R2EE SERMDBE (SHIFE
i - =
AE 2| 2 %& =
Fa | ® W #FERIE mge | s | mme | zxe
X4 (F) (a) (M) (M) (F) (kg) (M)
_ 29 470. 5 11, 800, 000 780,850 — — —
R 39 539. 0 12, 540, 000 845, 333 10 8,017| 1,442,700
] 1 20. 0 390, 000 25,202 — — —
j . ) )
M7 NI AXE 1 12.0 200, 000 13, 687 0 0 0
. 0 0.0 0 ol — — —
AL AR SRR 0 0.0 0 0 0 0 0
- = 30 490. 5 12, 190, 000 806, 142| — — —
= & 40 551. 0 12, 740, 000 859, 020 10 8,017| 1,442,700
o — — — — 131
> 17| 17,228 3. 062,500
gt | 75 0% 89. 0% 95. 7% o3.8u| 58.84|  46.5% A7, 1%
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FHRREBEE M [hE]

_ Lt ER=R3F &/ FB=-R2EE SEMDBE (SHIFE
I - —
AE 2| % e =
F # [T ] g F & | BIRE HiEE
X (F) (a) (M) (M) () (kg) (M)
_ 45 921. 0 23, 420, 000 776,094 — — —
R 48 1,023.0 22,950, 000 716, 541 5 11, 469 848, 500
R 1 18.0 210, 000 6,073] — — —
AL AR SR 1 18.0 260, 000 7,916 0 0 0
o 46 939. 0 23, 630, 000 782,167 — — —
= A 49 1,041.0 23, 210, 000 724, 457 5 11, 469 848, 500
s _ _ o H31
= 12 17,888| 1,689, 700
XA 93. 9% 90. 2% 101. 8% 108. 0%  41.7% 64. 1% 50. 2%




